NX 2130
2130 , 2130 2130, 2130
65 £X500=2000 130 2000 2000 130 4X500=2000 65
§ oA
T 75 ~ -
- o
(e @) (W]
o _ | &
. 2
— >
mMm
&
M
—
N
-
2
[N}
CI;
2
>
M
I I
“W& 4
BN OB 0 T BIHEOERE O
100 | 48 1842 48 |48 1842  18L2 48] |48 1842 4811 100 ®
97 97
NX 2130+8
NX 2130+160
80 NX 2130 80
(T :/ 10}
I // 1]
//
© /
© /
n 4
ud +
O = :
= == — =——=
o mmxs /
YG.L
/
XS Etist -

SERBICHOTIZREDR R L. EiEH

2360

S B & B ME (ME) Bmm
1| XE# F12 1.2
2 | IS F12 2.3
3 | i F12 1.6
L BHhEE F12 1.2+1.6
5 | ##&EE F12 1.6
6 | iFEP F12 1.2+1.6
7 S 718 2.3
8 | RIPBEmAEE F12 3.2
9 HIAT Y10 1.6
10 | #ig Y10 1.6
" | 586 Y10 1.0
12 | Rosi F12 2.0+3.2
13 | Rotg F12 2.0+3.2
1L | RPBRIR Y10 1.0
15 | AN F12 2.3
16 | BhhnN— Y10 0.7
17 | BEPR F12 1.6
18 | BEP F12 1.6+2.3
19 | BRI Y10 0.5
20 | BEREM(AM)BFE- |RUIFLYIAr—A 40
21 | Bz F12 0.6
22 | EREA Y10 0.7
23 | ERVEE Y10 0.7
2 | -2 8 F12 2.3
25 | Y+vya—(R3vh) 208 0.5
26 | Yy 9—AN— F12 0.7
27T | >+vI9—L—J FIVIZDAALBETM
F12—-aR@sns > S#R(JIS G 3302)

Y10 5@ @ -5%7IVIZVARED > FWIRIS G 3317)
708~ 2R BN - IIR(JIS G 3312)
218> — & ARRE (IS G 3466)

4555
140 4275 140
= 1000
— —
w1
=
< %
jop| 2 o~
m <~
3

WCTHMEYE - AOBRNBELLGDGEEAHYET

~

AR

HiE4A

<HER> S=1/50

GRN—2142SL

~EEU~

OB B0 ~+3%:1842 x 1818(mm)

OFREIENGESE] x 9.11m(2.761F)

w25 FE 22 BY(EPR




